CS490 Windows Internals

Quiz 10/12/2012
Multiple Choices:

Notice that each of the following questions has only ONE correct answer! 

1. The scheduler in an operating system has to manage the CPU efficiently. Which one of the optimization criteria mentioned below is NOT related to CPU scheduling?
a) Maximum throughput
b) Minimal waiting time 
c) Minimal response time
d) Maximum Mean Time To Failure (MTTF)
2. Which information is not associated with a thread’s Thread Control Block (TCB):

a) Program counter

b) CPU registers

c) Memory management information

d) CPU scheduling information
3. The Windows OS family supports multiple CPUs. Which approach is taken by the Windows scheduler?

a) Symmetric multiprocessing

b) Asymmetric multiprocessing

c) Cooperative multiprocessing

d) None of above

4. Which of the below-mentioned attributes does not fit to the Windows OS scheduling algorithm? 

a) Cooperative

b) Preemptive

c) Round-Robins
d) All above fit

5. Which of the arguments listed below is not related to dividing an application into multiple threads?

a) Better user responsiveness, decoupling of GUI and background execution

b) Take advantage of multiple processors

c) Increased application complexity

d) Better usage of installed main memory

6. Which statement is true in Windows?
a) Threads have exactly one Stack
b) Each process contains at least one thread
c) All threads share security settings of the process they are belonging to
d) The schedule unit is process

7. The prolongation of the quantum value used in the implementation of a scheduling algorithm has the following goal:

a) Increase of throughput

b) Optimization of interactive response time

c) Increase of overall system stability

d) Guarantee of real-time behavior

8. The Windows OS family implements multi-threading. Which one of the below-mentioned approaches is not present in the Windows OS?

a) One-to-one mapping of user-space-threads onto kernel-threads

b) One-to-many mapping of user-space-threads onto kernel-threads

c) Many-to-one mapping of user-space-threads onto kernel-threads

d) All above is present

9. The Windows OS scheduler occasionally increases the priority of non-real-time threads. What is the priority of a waiting GUI thread after the occurrence of a GUI event (window message)?

a) 15

b) Depending on the actual device driver involved

c) 31

d) Current priority is increased by 2 (but never exceeds 15)

10. Windows has a total of 32 thread priorities. Which one of the statements below is false:

a) The highest priority is 31

b) Priorities above 15 are referred to as “realtime” priorities

c) Priorities below 16 are adjusted dynamically by the scheduler

d) Increasing a thread’s priority will make the thread run faster - even on an otherwise empty system
